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Explanation : To multiply 3" digit or 4 digit number with more
number of digits, we-ean use moving multipliet/-method. If the
multiplier is a 3 digit-number, start with vertical multiplication,
two cross, then.three cross, shift the multiplier to the left side,
again do threeCross and shift the multiplier repeat the same
till there will’be no more digits to'shift then end with 2 €ross
and vertical multiplication of thédeft most digit.

Patternfor 6 digit x 3 digit multiplication

X KKK X

If the multiplier\is a 4 digit number,start with vertical
multiplication;, two cross, three cross;7then 4 cross, shift the
multiplier to_the left side, again dofour cross and shiftthe
multiplierrepeat the same till there will be no more digits to
shift then end with 3cross, 2 cross and vertical multiplication of
the left most digit.

Pattern for 6 digit x 4 digit'taultiplication

| XK 2K XK X

Example : Multiply
582,144 x 352

3 digit and 4 digit moving.multiplier




Multiply by equal and greater number of 9s

Explanation : This is a special multiplication method.' To multiply
équal number of 9's, less’one from the multiplieand which is the
left part of the answer, and apply “All fromi.9vand the last from
10” to the multipticand which is the rightipart of the answer. If
number of 9'sVare more, put imaginary zeros before the
multiplicand‘to make it equal number of digits and then apply
the same‘rule of equal number of-digits.

Example : Multiply

40,280 x 99,999

Number of digits of the multiplicand is equal to number of 9's.
Left part of the answer;,_less one 40,280 — 1 = 40,279

Right part of the answer, apply

“All from 9 and theast from 10” = 59720

40,280 x 99,999'= 4,027,959,720

398 x 999,999

Number of digits in the multiplieand is lesser than numberiof
9's so-put imaginary zeros to,meke it equal, it becomes
000,398 x 999,999

Left part of the answer, less‘one 000,398 — 1 = 397

Right part of the answer, apply

“All from 9 and thetast from 10” = 999,602

398 x 999,999 = 397,999,602

Exercise 9

Multiply’by equal and more number of 9's
1) 46 x99

2)~83 x 9999 =
3) 484 x 9999 =
4) 3046 x 9999 =
\5) 43,275 x 999,999 =

®




Step'3

Approximate quotient, 548 =6
83 x 6 =498

549 - 498 = 51

Quotient 6 and remainder 51

Step 4

Approximate‘quotient, 51 -+ 8 =16
83 x 6 =498

510 —498 = 12

Quotient 6 and remainder¢12

Step 5

Approximate quotient, 12 + 8 =1
124 - 83 = 41

Quotient 1 and remainder 41

718,904 ~83 = 8661 R 41

Divide using straight division
1) 943 +23 2) 1647 + 48 3) 6434 +74

4) 21,772 + 62 5) 35,695 + 41
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Special division — below base numbers

Explanation : This is a special division method. The divisor is a
below base number. First write the flag digit:Cfhe flag digit is
nothing but the difference between the divisor and its nearest
base number. _The number of digits of the flag digit must be
equal to number of zeros of the nearest base number and
separate as.many digits of the dividénd for the remainder part.
Write down the first digit of the“dividend in quotient part,
multiply to the flag digit and add to the next digits which give
the temainder. If the remainder is more than the-quotient,
find how many divisofsg are in the remainder,~add to the
quotient part and write the final remainder.

Example : Divide-using below base division
22,719 + 9887

The nearest base number of the divisor 9887 is 10,000.
Separatélast four digits for the_remainder.
The flag digit is 10,000 — 9887 =.0113

0113 |2 2 7 A9
9887 0 252 6
2 | 2“9 4 5

22,719 + 9887 = 2 R 2945

8714 ~ 886
The nearest base number.of the divisor 886 is 1000:

Separate last three digits for the remainder.
The flag digit is 1000:=886 = 114

o /
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